6-10 баллов
1) readln (A, 2, B); 		(да – число 2 не читается)
2) var  a, b: real;
           c, d : integer;
    begin
 (
Нет
, 
round 
превращает в целое
)        …
        c:= round (a+25);

3) var  a, b: real
           c, d : integer;
    begin
 (
Да
 – после 1-й строки нет
 ;
)        …
        a:= c +2*d;

4) var  a, b: real;
           c, d : integer;
    begin
 (
Да
, 
sqrt
 – не целое
)        …
        c:= d + SQRT (25);

5) y:= SIN (3+SRT (1+X)\ ABC (5*X) 	{да – SIN (3+SRT (1+X)\ ABC (5*X))	}


